STACK OBJECTIVE

What is the minimum distance (X) between
hole’s surface and bottom side of the pad?
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WHICH DIMENSIONS & TOLERANCES DO NOT
INFLUENCE THE STACK?
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WHAT IS THE WORST CASE SCENARIO FOR (Xmin)?

The smallest possible distance (Xmin) occurs when: BONUS TOLERANCE
= hole is at its maximum size (15.2)

= deviation of hole’s position is maximum allowable for this size of hole (0.1+0.2=0.3)
= perpendicularity deviation of bottom surface of the pad is maximum possible (0.1)
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WHERE SHOULD THE STACK START & END?

-+

15.2
?

///" 5.0
[($[go.1@[A[B][C]

Stack direction a

$mmmmm stack end point

Stack origin

L |o.1|A|B
L—I

DIMENSTONING AND TOLERANCING
IN ACCORDANCE WITH Y14.5-2009




HOW TO CALCULATE (Xmin)?
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[C] Xmin=-0.1+30-0.15-15.2/2
Max. offset of hole’s axis Xmin=-0.1+30-0.15-7.6

from its true position i —
-0.3/2=0.15 Xmin = 22.15

Xmin = -[A]+[B]-[C]-[D]/2
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